
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 103

82 km = 82000000 mm

8 dam = 8000 cm

46 km = 460000 dm

51 dam = 510000 mm

96 dam = 96000 cm

62 hm = 6200000 mm

87 m = 87000 mm

74 m = 740 dm

18 m = 18000 mm

3 dam = 30000 mm

380000 cm = 380 dam

59000000 mm = 59 km

1300000 dm = 1300 hm

870000 m = 87000 dam

28000000 m = 28000 km

23000000 cm = 230 km

43000000 m = 43000 km

75000000 mm = 75 km

9400000 cm = 940 hm

73000000 m = 73000 km

5 dam  et 4 dm = 504 dm

59 m  et 47 cm = 5947 cm

59 dam  et 2 mm = 590002 mm

37 m  et 51 cm = 3751 cm

97 m  et 47 dm = 1017 dm

18 km  et 52 cm = 1800052 cm

68 m  et 30 dm = 710 dm

43 dam  et 8 mm = 430008 mm

90 hm  et 92 dm = 90092 dm

32 dam  et 22 dm = 3222 dm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :
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